

λ -ANALOGUE OF STIRLING NUMBERS OF THE FIRST KIND

TAEKYUN KIM

ABSTRACT. In this paper, we consider the λ -analogue of the Stirling numbers of the first kind. In addition, we give some new identities and properties for these numbers.

1. Introduction

The falling factorials are given by

$$(x)_0 = 1, (x)_n = x(x-1)\cdots(x-n+1), (n \geq 1), \quad (\text{see [2, 3, 4]}). \quad (1.1)$$

The Stirling numbers of the first kind are defined as

$$(x)_n = \sum_{l=0}^n S_1(n, l)x^l, (n \geq 0), \quad (\text{see [5, 9, 10]}), \quad (1.2)$$

where $S_1(n, l)$, $(n, l \geq 0)$, are called the Stirling numbers of the first kind. We recall that the rising factorials are given by

$$\langle x \rangle_0 = 1, \langle x \rangle_n = x(x+1)(x+2)\cdots(x+n-1), (n \geq 1). \quad (1.3)$$

The unsigned Stirling numbers of the first kind are defined by

$$\langle x \rangle_n = \sum_{l=0}^n |S_1(n, l)|x^l, (n \geq 0), \quad (\text{see [3]}). \quad (1.4)$$

From (1.3) and (1.4), we note that

$$(x)_n = \sum_{l=0}^n (-1)^{n-l} |S_1(n, l)|x^l, \quad (\text{see [3, 5, 10]}). \quad (1.5)$$

2010 *Mathematics Subject Classification.* 11B68; 11S80.

Key words and phrases. λ -analogue of Stirling numbers of the first kind.

It is well known that the generating function of the Stirling number of the first kind is given by

$$\frac{1}{k!} (\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad (\text{see [10]}). \quad (1.6)$$

The symbol $S_2(n, k)$ stands for the number of ways to partition a set of n things into k nonempty subsets. For example, there are seven ways to split a four-element set into two parts:

$$\begin{aligned} &\{1, 2, 3\} \cup \{4\}, \{1, 2, 4\} \cup \{3\}, \{1, 3, 4\} \cup \{2\}, \{2, 3, 4\} \cup \{1\}, \\ &\{1, 2\} \cup \{3, 4\}, \{1, 3\} \cup \{2, 4\}, \{1, 4\} \cup \{2, 3\}; \end{aligned}$$

thus $S_2(4, 2) = 7$.

The sequence $S_2(n, k)$, $(n, k \geq 0)$, are called the Stirling numbers of the second kind which are defined by

$$x^n = \sum_{l=0}^n S_2(n, l) (x)_l, \quad (n \geq 0), \quad (\text{see [1-10]}). \quad (1.7)$$

The generating function of $S_2(n, k)$ is defined by

$$\frac{1}{k!} (e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (\text{see [10]}). \quad (1.8)$$

From (1.7) and (1.8), we have

$$S_2(n+1, k) = S_2(n, k-1) + kS_2(n, k), \quad (1 \leq k \leq n). \quad (1.9)$$

Indeed, $S_2(n, 2) = 2^{n-1} - 1$, $(n \geq 1)$. Note that $|S_1(n, k)|$, $(n, k \geq 0)$, counts the number of ways to arrange n objects into k cycles instead of subsets. From (1.5), we have

$$|S_1(n+1, k)| = |S_1(n, k-1)| + n|S_1(n, k)| \quad (1.10)$$

and

$$S_1(n+1, k) = S_1(n, k-1) + nS_1(n, k), \quad (1 \leq k \leq n). \quad (1.11)$$

In this paper, we consider the λ -analogue of the Stirling numbers of the first kind due to Carlitz and we give some new properties and identities for these numbers.

2. λ -analogue of Stirling numbers of the first kind

For $\lambda \in \mathbb{R}$, let us define the λ -analogue of falling factorials as follows:

$$(x)_{0,\lambda} = 1, (x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda), (n \geq 1). \tag{2.1}$$

Note that $\lim_{\lambda \rightarrow 1}(x)_{n,\lambda} = (x)_n, (n \geq 0)$. and $\lim_{\lambda \rightarrow 0}(x)_{n,\lambda} = x^n$. From (2.1), we consider the λ -analogue of binomial coefficients which are given by

$$\binom{x}{n}_\lambda = \frac{(x)_{n,\lambda}}{n!} = \frac{x(x - \lambda) \cdots (x - (n - 1)\lambda)}{n!}, (n \geq 1), \binom{x}{0}_\lambda = 1. \tag{2.2}$$

For $n \in \mathbb{N}$, we define λ -analogue of $n!$ as follows:

$$(n!)_\lambda = n(n - \lambda)(n - 2\lambda) \cdots (n - (n - 1)\lambda) = (n)_{n,\lambda}. \tag{2.3}$$

Thus, by (2.2) and (2.3), we get

$$\binom{n}{k}_\lambda = \frac{(n!)_\lambda}{k!(n - k)_\lambda} = \frac{(n)_{k,\lambda}}{k!}, (n \geq k \geq 0). \tag{2.4}$$

It is not difficult to show that the generating function of $\binom{x}{n}_\lambda$ is given by

$$(1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \binom{x}{n}_\lambda t^n. \tag{2.5}$$

By (2.5), we easily get

$$\sum_{m=0}^n \binom{y}{m}_\lambda \binom{x}{n - m}_\lambda = \binom{x + y}{n}_\lambda, (n \geq 0). \tag{2.6}$$

Now, we define the λ -analogue of the Stirling numbers of the first kind as follows:

$$(x)_{n,\lambda} = \sum_{l=0}^n S_{1,\lambda}(n, l)x^l, (n \geq 0). \tag{2.7}$$

The coefficients $S_{1,\lambda}(n, l)$ on the right hand sides of (2.7) are called the λ -analogue of the Stirling numbers of the first kind. From (2.7), we note that

$$S_{1,\lambda}(0, 0) = 1, S_{1,\lambda}(n, 0) = S_{1,\lambda}(0, n) = 0, (n \in \mathbb{N}), \tag{2.8}$$

and

$$\lim_{\lambda \rightarrow 1} S_{1,\lambda}(n, l) = S_1(n, l) \quad \text{and} \quad \lim_{\lambda \rightarrow 0} S_{1,\lambda}(n, l) = \delta_{n,l},$$

where $\delta_{n,l}$ is the kronecker's symbol. From (2.7), we note that

$$\begin{aligned}
 \sum_{l=0}^{n+1} S_{1,\lambda}(n+1, l)x^l &= (x)_{n+1,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-n\lambda) \\
 &= x(x-\lambda)\cdots(x-(n-1)\lambda)(x-n\lambda) = (x)_{n,\lambda}(x-n\lambda) \\
 &= \sum_{l=0}^n S_{1,\lambda}(n, l)x^l(x-n\lambda) \\
 &= \sum_{l=1}^{n+1} S_{1,\lambda}(n, l-1)x^l - n\lambda \sum_{l=1}^{n+1} S_{1,\lambda}(n, l)x^l, \quad (n \in \mathbb{N}).
 \end{aligned} \tag{2.9}$$

Thus, (2.9), we get

$$S_{1,\lambda}(n+1, l) = S_{1,\lambda}(n, l-1) - n\lambda S_{1,\lambda}(n, l), \tag{2.10}$$

where $1 \leq l \leq n$. Note that the generating function of $S_{1,\lambda}(n, k)$ is given by

$$\frac{1}{k!} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!}. \tag{2.11}$$

Now, we define the λ -analogue of unsigned Stirling numbers of the first kind as follows:

$$\begin{aligned}
 \langle x \rangle_{n,\lambda} &= x(x+\lambda)(x+2\lambda)\cdots(x+(n-1)\lambda) \\
 &= \sum_{l=0}^n |S_{1,\lambda}(n, l)|x^l, \quad (n \geq 0).
 \end{aligned} \tag{2.12}$$

From (2.12), we note that

$$\begin{aligned}
 \sum_{l=0}^{n+1} |S_{1,\lambda}(n+1, l)|x^l &= \langle x \rangle_{n+1,\lambda} = x(x+\lambda)\cdots(x+n\lambda) \\
 &= x(x+\lambda)\cdots(x+(n-1)\lambda)(x+n\lambda) \\
 &= \sum_{l=0}^n |S_{1,\lambda}(n, l)|x^{l+1} + n\lambda \sum_{l=0}^n |S_{1,\lambda}(n, l)|x^l \\
 &= \sum_{l=1}^{n+1} |S_{1,\lambda}(n, l-1)|x^l + n\lambda \sum_{l=1}^{n+1} |S_{1,\lambda}(n, l)|x^l.
 \end{aligned} \tag{2.13}$$

Thus, by (2.13), we get

$$|S_{1,\lambda}(n+1, l)| = |S_{1,\lambda}(n, l-1)| + n\lambda |S_{1,\lambda}(n, l)|, \tag{2.14}$$

where $1 \leq l \leq n$. We observe that

0	$S_{1,\lambda}(n,0)$	$S_{1,\lambda}(n,1)$	$S_{1,\lambda}(n,2)$	$S_{1,\lambda}(n,3)$	$S_{1,\lambda}(n,4)$	$S_{1,\lambda}(n,5)$	$S_{1,\lambda}(n,6)$...
0	1	0	0	0	0	0	0	...
1	0	1	0	0	0	0	0	...
2	0	$-\lambda$	1	0	0	0	0	...
3	0	$2!\lambda^2$	-3λ	1	0	0	0	...
4	0	$-3!\lambda^3$	$11\lambda^2$	-6λ	1	0	0	...
5	0	$4!\lambda^4$	$-50\lambda^3$	$35\lambda^2$	-10λ	1	0	...
6	0	$-5!\lambda^5$	$274\lambda^4$	$-225\lambda^3$	$85\lambda^2$	-15λ	1	...
\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\ddots

Note that $S_{1,\lambda}(n,1) = (-1)^{n-1}\lambda^{n-1}(n-1)!$

0	$ S_{1,\lambda}(n,0) $	$ S_{1,\lambda}(n,1) $	$ S_{1,\lambda}(n,2) $	$ S_{1,\lambda}(n,3) $	$ S_{1,\lambda}(n,4) $	$ S_{1,\lambda}(n,5) $	$ S_{1,\lambda}(n,6) $...
0	1	0	0	0	0	0	0	...
1	0	1	0	0	0	0	0	...
2	0	λ	1	0	0	0	0	...
3	0	$2!\lambda^2$	3λ	1	0	0	0	...
4	0	$3!\lambda^3$	$11\lambda^2$	6λ	1	0	0	...
5	0	$4!\lambda^4$	$50\lambda^3$	$35\lambda^2$	10λ	1	0	...
6	0	$5!\lambda^5$	$274\lambda^4$	$225\lambda^3$	$85\lambda^2$	15λ	1	...
\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\vdots	\ddots

Note that $|S_{1,\lambda}(n,1)| = \lambda^{n-1}(n-1)!$

From (2.7) and (2.12), we have

$$\begin{aligned}
 \sum_{l=0}^n |S_{1,\lambda}(n,l)|x^l &= \langle x \rangle_{n,\lambda} = (-1)^n (-x)_{n,\lambda} \\
 &= (-1)^n \sum_{l=0}^n S_{1,\lambda}(n,l)(-x)^l \tag{2.15} \\
 &= \sum_{l=0}^n S_{1,\lambda}(n,l)(-1)^{n-l}x^l.
 \end{aligned}$$

Thus, by (2.15), we get

$$|S_{1,\lambda}(n,l)| = (-1)^{n-l}S_{1,\lambda}(n,l), \quad (n \geq 0). \tag{2.16}$$

Now, we observe that

$$\begin{aligned}
 (x)_{n,\lambda} &= \sum_{l=0}^n S_{1,\lambda}(n,l)x^l = \sum_{l=0}^n S_{1,\lambda}(n,l)\lambda^l \left(\frac{x}{\lambda}\right)^l \\
 &= \sum_{l=0}^n S_{1,\lambda}(n,l)\lambda^l \sum_{m=0}^l S_2(l,m) \left(\frac{x}{\lambda}\right)_m \\
 &= \sum_{l=0}^n S_{1,\lambda}(n,l)\lambda^l \sum_{m=0}^l S_2(l,m)\lambda^{-m}(x)_{m,\lambda} \\
 &= \sum_{m=0}^n \left(\sum_{l=m}^n S_{1,\lambda}(n,l)\lambda^{l-m} S_2(l,m) \right) (x)_{m,\lambda}.
 \end{aligned} \tag{2.17}$$

Thus, by (2.17), we get

$$\sum_{l=0}^n S_{1,\lambda}(n,l)S_2(l,m)\lambda^{l-m} = \delta_{n,m}, \tag{2.18}$$

where $0 \leq m \leq l \leq n$. On the other hand, we have

$$\begin{aligned}
 \left(\frac{x}{\lambda}\right)^n &= \sum_{l=0}^n S_2(n,l) \left(\frac{x}{\lambda}\right)_l = \sum_{l=0}^n S_2(n,l)\lambda^{-l}x(x-\lambda)\cdots(x-(n-1)\lambda) \\
 &= \sum_{l=0}^n S_2(n,l)\lambda^{-l}(x)_{l,\lambda} = \sum_{l=0}^n S_2(n,l)\lambda^{-l} \sum_{m=0}^l S_{1,\lambda}(l,m)x^m \\
 &= \sum_{m=0}^n \left(\sum_{l=m}^n S_2(n,l)S_{1,\lambda}(l,m)\lambda^{-l} \right) x^m.
 \end{aligned} \tag{2.19}$$

Thus, by (2.19), we get

$$x^n = \sum_{m=0}^n \left(\sum_{l=m}^n S_2(n,l)S_{1,\lambda}(l,m)\lambda^{n-l} \right) x^m. \tag{2.20}$$

Therefore, from (2.20), we have

$$\sum_{l=m}^n S_2(n,l)S_{1,\lambda}(l,m)\lambda^{n-l} = \delta_{m,n}, \tag{2.21}$$

where $0 \leq m \leq l \leq n$.

References

1. L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51–88.
2. L. Carlitz, *A degenerate Staudt-Clausen theorem*, Arch. Math. (Basel) **7** (1956), 28–33.

3. L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, D. Reidel Publishing Co., **1974** p. 228.
4. T. Ernst, *q-Leibniz functional matrices with applications to q-Pascal and q-Stirling matrices*, Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 4, 537–555.
5. D. S. Kim, T. Kim, *On degenerate Bell numbers and polynomials*, Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Math. RACSAM **111** (2017), no. 2, 435–446.
6. D. S. Kim, T. Kim, *Identities involving r-Stirling numbers*, J. Comput. Anal. Appl. **17** (2014), no. 4, 674–680.
7. T. Kim, D. S. Kim, L.-C. Jang, H.-I. Kwon, J. J. Seo, *Differential equations arising from Stirling polynomials and applications*, Proc. Jangjeon Math. Soc. **19** (2016), no. 2, 199–212.
8. T. Kim, D. S. Kim, *On λ -Bell polynomials associated with umbral calculus*, Russ. J. Math. Phys. **24** (2017), no. 1, 69–78.
9. T. Kim, D. S. Kim, W. S. Chung, H. I. Kwon, *Some Families of q-Sums of q-Products*, Filomat **31**:6 (2017), 1611–1618.
10. S. Roman, *The umbral calculus*, Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, **1984** x+193 pp.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: `tkkim@kw.ac.kr`